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QUESTION 1

[25 MARKS]

Broll Namibia Ltd is considering two expansion projects in Windhoek. Both projects will last for four

(4) years and are similar in nature except for their cash flows. Both projects cost N$46 million to kick-

start and no additional working capital is required. According to the managing director, Mr. Marco

Wenk, only one of these projects will be chosen and funded using debt. The cost of capital is 12% but

Mr. Wenk indicated that it may fall to below 12% if additional debt is raised. In addition to this

information, Mr. Wenk provided the following estimates to help you evaluate and recommend the

appropriate project for the company.

Profit after depreciation

Project A Project B

N$000 N$000
Year 0 46 000 46 000
Year 1 6 500 4500
Year 2 3500 2500
Year 3 13 500 4 500
Year 4 (1500) 14 500
Estimated scrap value at the end of year 4 4000 4000

Required:

You are required to evaluate the two projects by calculating the following:

a) The payback period
b) The net present value (NPV)

c) The accounting rate of return (ARR)

d) Explain which of the two projects the company should invest in

(4]
(8]
(4]
(2]

e) Assume the two projects had different life spans. Explain what approach Broll would use to

decide on which project to invest in.

(4]

f) State three conditions under which the IRR and the NPV techniques may produce different

results

(3]
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QUESTION 2 [25 MARKS]

Baby Company Ltd (BCL) is a manufacturer of baby equipment and is planning to launch a
revolutionary new style of sporty pushchair. The company has commissioned market research to
establish possible demand for the pushchair and the following information has been obtained. If the
price is set at N$425, demand is expected to be 1 000 pushchairs, at N$500 the demand will be 730
pushchairs and at N$600 the demand will be 420 pushchairs. Variable costs are estimated at either
NS$170, N$210 or N$260. A decision needs to be made on what price to charge. In addition to the
above information, the company uses Residual Income as a performance measurement tool to rate

its employees.
Required

a) Prepare a table showing the expected contribution for each of the possible outcomes.
)
b) Explain what is meant by maximax, maximin and minimax regret decision rules using the
information in the scenario to illustrate your explanations. [12]
c) Identify any two advantages and two disadvantages of using the Residual Income (RI) as

a performance measurement tool. (4]

QUESTION 3 [25 MARKS]
Difir Ltd is considering investment options and has identified three potential projects, Project A,
Project B and Project C. The projects are different and have varied cash flows. You have been asked to
analyse these projects and you came up with the following cash flows in Namibian dollars.

Project 0 1 2 3 4

A (50 000) (20 000) 20 000 40000 40000
B (28 000) (50 000) 40 000 40 000 20 000
C (30 000) (30 000) 30000 40 000 10 000

The cost of the recommended two project will be funded by equity. However, Difir is an all equity
company hence, the cost of equity at 10% is equal to the weighted average cost of capital (WACC).

Required:

a) If thereis no capital rationing, which project should be accepted? [9]
b) Which project should be undertaken assume there is a capital rationing in year 0. There is only

NS$60 000 of investment finance that will be available. Assume the projects are divisible. [10]
c) Briefly explain the two forms of capital rationing. [6]
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QUESTION 4 [25 MARKS]

Taurus Ltd has is a company made up of two divisions, the Valve Division and the Pump division. The
Valve Division manufactures and sells a standard valve and the following details are given regarding
the standard valve:

Capacity in units 100 000
Selling price to outside customers on the intermediate market NS$30
Variable costs per unit NS16
Fixed costs per unit (based on capacity) NS 9

The Pump Division could use this valve in the manufacture of one of its pumps. The Pump Division is
currently purchasing 10 000 valves per year from an overseas supplier at a cost of NS29 per valve.

Required:
a) Assume that the Valve Division has ample idle capacity to handle all the Pump Division’s
needs. With justification, determine the transfer price range between the two divisions? [5]
b) Assume that the Valve Division is selling all the valves that it can produce to outside customers
on the intermediate market. What should be the transfer price between the two divisions?
At this price, will any transfers be made? (5]
c) Assume again that the Valve Division is selling all the valves that it can produce to outside
customers on the intermediate market. Also assume that N$3 in variable expenses can be
avoided on intra-company sales, due to reduced selling costs. What should be the transfer
price between the two divisions? [5]
d) Assume that Taurus Ltd now estimates that the maximum demand for the standard valve is 1

000 units at price zero. The demand will be reduced by 10 units for an increase of NS1 in the
selling price. The company has determined that the profit is maximised at the sale of 750 units.
Determine the price at which the product should be sold to maximise profit. [10]

END OF EXAMINATION PAPER
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TABLE A

Future value interest factor of $1 per period at i% for n periods, FVIF(i,n).

Period 1% 2% 3% 4% 5% 6% 7% 8% 9% 10% 1% 12% 13% 14% 15% 16% 17% 18% 19% 20%
1] 1.010 1.020 1.030 1.040 1.050| 1.060 1.070 1.080  1.090 1.100 1.110 1.120 1.130 1.140 1.150 1.160 1.170 1.180 1.190 1.200
2| 1.020 1.040 1.081 1.082 1.103| 1.124 1145 1.166 1.188 1.210 1.232 1.254 1.277 1.300 1.323 1.346 1.369 1.392 1.416 1.440
3/ 1.030 1.061 1.093 1.125 1.158 | 1.191 1225 1.260 1.295 1.331 1.368 1.405 1.443 1.482 1.521 1.561 1.602 1.643 1.685 1.728
4 1.041 1.082 1.126 1.170 1.216| 1.262 1.311 1.360 1.412 1.464 1.518 1.574 1.630 1.689 1.749 1.811 1.874 1.939 2.005 2.074
5] 1.051 1.104 1.159 1.217 1.276 | 1.338 1403  1.469  1.539 1.611 1.685 1.762 1.842 1.925 2.011 2.100 2.192 2.288 2.386 2.488
6] 1.062 1.126 1.194 1.265 1.340| 1.419  1.501 1.587 1.677 1.772 1.870 1.974 2.082 2.195 2.313 2.436 2.565 2.700 2.840 2.986
71 1.072 1.149 1230 1.316 1.407| 1504 1.606 1.714 1.828 1.949 2.076 2211 2.353 2.502 2.660 2.826 3.001 3.185 3.379 3.583
8] 1.083 1.172 1.267 1.369 1477 1594 1718 1.851 1.993 2.144 2.305 2.476 2.658 2.853 3.059 3.278 3.511 3.759 4.021 4.300
9( 1.094 1.195 1.305 1.423  1.551 1.689 1.838 1.999 2172 2.358 2.558 2.773 3.004 3.252 3.518 3.803 4.108 4.435 4.785 5.160

10] 1105 1219 1.344 1480 1629 | 1.791 1.967 2159  2.367 2.594 2.839 3.106 3.395 3.707 4.046 4.411 4.807 5.234 5.695 6.192
11] 1116 1.243 1.384 1.539 1.710( 1.898 2105 2332 2580 2.853 3.152 3.479 3.836 4.226 4.652 5.117 5.624 6.176 6.777 7.430
12] 1127 1.268 1.426 1.601 1796 | 2.012 2252 2518 2813 3.138 3.498 3.896 4.335 4.818 5.350 5.936 6.580 7.288 8.064 8.916
13| 1.138 1.294 1469 1.665 1.886| 2133 2410 2720 3.066 3.452 3.883 4.363 4.898 5.492 6.153 6.886 7.699 8.599 9.596 10.699
14| 1.149 1319 1513 1.732 1.980| 2.261 2579 2937 3.342 3.797 4.310 4.887 5.535 6.261 7.076 7.988 9.007 10.147 11.420 12.839
15| 1.161 1.346 1.558 1.801 2079 | 2397 2759 3.172  3.642 4177 4.785 5.474 6.254 7.138 8.137 9.266 10.539 11.974 13.590 15.407
161 1.173 1.373 1.605 1.873 2183 | 2540 2952 3426 3.970 4.595 5.311 6.130 7.067 8.137 9.358 10.748 12.330 14.129 16.172 18.488
17] 1.184 1.400 1.653 1.948 2292 | 2693 3.159 3.700 4.328 5.054 5.895 6.866 7.986 9.276 10.761 12.468 14.426 16.672 19.244 22.186
18] 1.196 1.428 1.702 2.026 2407 | 2.854 3.380 3.996 4.717 5.560 6.544 7.690 9.024 10.575 12.375 14.463 16.879 19.673 22,901 26.623
19] 1.208 1.457 1.754 2107 2527 | 3.026 3617 4316 5142 6.116 7.263 8.613 10.197 12.056 14.232 16.777 .19.748 23.214 27.252 31.948
20f 1.220 1.486 1.806 2.191 2653 | 3.207 3.870 4.661 5.604 6.727 8.062 9.646 11.523 13.743 16.367 19.461 23.106 27.393 32.429 38.338
25 1.282 1.641 2094 2666 3.386| 4.292 5427 6.848 8.623 10.835 13.585 17.000 21.231 26.462 32.919 40.874 50.658 62.669 77.388 95.396
30| 1.348 1.811 2427 3.243 4322 | 5743 7.612 10.063 13.268 17.449 | 22,892 29.960 39.116  50.950 66.212 85.850 111.065 143.371 184.675 237.376
35| 1.417 2000 2814 3946 5516 | 7.686 10.677 14.785 20.414 28.102 | 38.575 52.800 72.069 98.100 133.176 180.314 243.503 327.997 440.701 590.668
40| 1.489 2208 3.262 4.801 7.040 | 10.286 14.974 21.725 31.409 45.259 | 65.001 93.051 132.782 188.884 267.864 378.721 533.869 750.378 1,051.668 1,469.772
50| 1645 2692 4.384 7.107 11.467 | 18.420 29457 46.902 74.358 117.391 | 184.565 289.002 450.736 700.233 1,083.657 | 1,670.704 2,566.215 3,927.357 5,988.914 9,100.438
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